Kowmmpeccop VDC 400/100 CM3 (ILINDP 614319561)

FUBAG




KOJI-

O3ULIUU | KOJ HAMMEHOBAHUE BO
1 45.008A BOJIT (M6x55) 8
2 45.092 [IIABA TPOBEPA 6 9
3 03.011 T'OJIOBKA LIMJIMHJIPA 2
4 40.039C ®OUTUHI YTJIOBOM (3/8"-3/8") 2
5 35.005A [TPOKJIAJIKA TOJIOBKU LIMJIMH/IPA 2
6 11.001 IJIACTUHA KJIAITAHHAS 47 4
7 35.001 [IPOKJIAJIKA AJTIOMUHUEBAS 47 2
8 34.001 [IJIACTUHA KOJIATIAHHA I HUKHSIS 51 4
9 35.005B [TPOKJIAJIKA KJIATIAHHOW IJIACTUHBI 2
10 10.014 LIJIUH/IP (48x61.5) 2
11 35.007C [IPOKJIAJIKA LIJIMHJPA HIDKH SIS 2
12 45.157 BOJIT (M8x25) 6
13 45.229 IIIAMBA TPOBEPA 8 4
14 29.021 HABOP KOJIEL] d48 4
15 28.003 [TOPIIEHb d48 2
16 30.003 [IAJIEL] [TOPIIHS (12x40) 2
17 46.005 KOJIbLIO CTOITOPHOE 12 4
18 03.038 IIIATVH (d12xD22xH85) 2
19 12.006 KPHBOILIMNII 1
20 46.025 ILITTOHKA (B6x20) 1
21 45.232 BUHT (M8x45) 1
22 45.059 IIIAMBA 1
23 45.154 BUHT (M8x22) 1

MEPHOE OKOIIIKO C YIIOTHUTEJIbHbIM
24 33.001A KOJIbLIOM 1
25 45.124 BOJIT KPEIUIEHMS KPBILIKU (M6x18) 5
26 03.035 KPBILIKA KAPTEPA 1
27 36.005 [TPOKJIAJIKA KPBIIIIKU KAPTEPA 1
28 03.033 KAPTEP 1
29 32.006 CAJIBHUK (22x47x7) 1
30 31.007 OIIINITHUK 6205-2RS 1
31 04.285 CTATOP 1
32 31.005 OJIIUITHYK 6203-2RS 1
33 04.283A POTOP 1
34 46.002 [IIAVIBA 1
35 03.124 KPBILIKA 3AJTHSS 1
36 45.259 LIIAVIBA TPOBEPA 5 2
37 45.108 BUHT (M5x10) 2
38 04.018C IIJIACTUHA KOHTAKTHAS (L16-152S 50HZ) 1
39 06.011E KPBUUIBYATKA 1
40 45.330 BUHT (M6x25) 4




41 46.015 KOJIbITO CTOIIOPHOE 15 1
42 45.120 BUHT (4.0x18) 4
43 45.092 IIIABA TPOBEPA 6 6
44 45.067 LIIABA 6 6
45 45.029A BOJIT (M6x40) 3
46 43.123B TPYBKA KOPOTKAS (10x217) 1
47 43.122B TPYBKA JJIMHHAS (10x232) 1
48 44.016 T'AVIKA TPYBKU 4
49 46.017 T'AIKA TPYBKU 4
50 40.016D | COEJMHEHME CTBhIKOBOE (2x3/8"-3/4"x16UNF-1/4") 1
51 40.018B KJIAIIAH PA3T'PY30UHBII (1/4") 1
52 40.145 BUHT (M6x50) 1
53 45.063 LIAVBA 10 1
54 27.023B KOHJIEHCATOP ITYCKOBOW (150mkE/250V) 1
55 27.062A KOHJEHCATOP PABOYMII (35mkF/450V) 1
56 45.111 BUHT (M4x8) 5
57 45.068 [IIAVBA 4
58 06.0110 KOXYX 1
59 45.403 BUMHT (3.5x16) 2
60 45.068A IIIAMEBA (5x14) 2
61 45.058 IIIAIBA CTOIIOPHA S 1
62 46.066 BUPKA 3A3EMJIEHN S 1
63 49.032 KOPOBKA KOHJIEHCATOPOB 1
64 37.042 ABTOMAT 3AIIUTEHI 1
65 45.044 BOJIT (M8x30) 4
66 45.064 IIIAMBA 8 6
67 45.229 IIIAIBA TPOBEPA 8 4
68 45.231 ' AMKA M8 6
69 42.201 COEJIMHEHUE BbICTPOPE3BLBOBOE (1/4") 1
70 23.001C MAHOMETP 40mm (16 Bar 1/8") 1
71 23.004C MAHOMETP 50mm (16Bar 1/4") 1
72 25.044 PEL'YJISITOP (1/4"x1/8"x1/4") 1
73 42.026E COEJIMHEHME PE3bBEOBOE (1/4"x30) 1
74 21.002 PEJIE JABJIEHUS 1
75 42.021 AJIATITEP 1/4" 1
76 42.022 T AMKA 3/8" 1
77 46.026 [IPOKJIAJIKA (6x14x1.5) 2
78 24.009A KJIATIAH I[TPEJJOXPAHUTEJIbHBIN 1/4" 1
79 43.016G TPYBKA PA3STPY30UYHAS (6x225) 1
80 44.002B ' AMKA PA3I'PY30YHOM TPYBKU (M10x1) 1
81 43.312 TPYBKA BBIITYCKHAS (12x590) 1
82 44.011 I'AUKA TPYBKHU (3/4"x16UNF) 2
83 22.014 KABEJIb CETEBOI 1




84 08.116 PECUBEP 100L 1
85 39.030 KPAH CJINBA KOHJIEHCATA 3/8" 1
86 37.008 PYKOSITKA PE3SUHOBAS 1
87 38.003C KJIATIAH OBPATHBIN (1/2"-3/4"x16UNF-M10x1) 1
88 47.0255 KOJIECO TIOBOPOTHOE 1
KOJIECO OBPE3MHEHHOE (142x33 MM, oz 60t
89 15.008C d=16mm) 2
90 46.043 BOJIT KPEIJIEHHMS KOJIECA (M10xd16x36.5) 2
9] 26.004 CAITYH (M16x1.5) 1
92 41.012 BO3/YIIIHbBI ®UJILTP 2
93 45.090 IIIAIBA TPOBEPA M10 1
94 45.076 T'AVKA HIECTUTPAHHAS M10 1




